T2 EEREREMNTEHER

EM R R

RIEMER(uGy /91 B)
Ak
=1 55 1-muHR 55 2- T HA 55 3- U Hf 55 4-M0HR
(4R9B~7H16A8) (7TR16B~10R15H8) | (10 A 15H8~1 A 14 H) (RB~AH)
1 132 £ 1.0 - 139 =+ 26 +
2 132 = 05" 132 = 10 135 + 1.0 +
3 11 = 15% 110 = 1.7° 113 =+ 06 +
4 - 152 =+ 0.0 152 =+ 1.0 +
5 153 + 18 153 =+ 057 158 =+ 1.0 +
6 119 = 05 118 =+ 05 120 = 1.1 +
7 115 = 1.3 116 = 2.77 116 =+ 1.0% +
8 130 = 05 131 = 1.9 131 + 45 +
9 119 = 0.9* 119 =+ 06% 121 = 10 +
10 106 =+ 0.5% 104 =+ 0.0% 108 =+ 1.1%° +
b 554 BB 46 =+ 03 45 + 04 49 + 1.1 +
(4A68~7HA21A8) (7A3B~10R 19 H) (10 A 128~1RA228H)
* 1. RELHMIZ4 B 10B8~7 B 16 BTH. *6: REHMMITTA17H~10 A 15 HTH S,
*2: BRBEHMIT4A98~7 A 17 BTH, *7:FREHRIT7 A 16 B~10 A 16 HTHS.
*3:BELED-HEEET, * 8 EXEHIMIL 10 B 16 B~1 A 14 ATHS.

x4 R EBEHMIZ4 B8 108~7 B 17 BTHS, * 9 R EHMIZ10 A 16 H~1 A 15 HTH 5,
x5 B REOFZETIRFELBIELF=f=H XA, *10: X EBEHARIZ 10 A 15B~1 A 15 BTHD.
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